H & 0l & AHS B Ml A

SA A
M SAR)| ANE 22
ol AN ¥ 2352 EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
1 97,743,817 97,285,162 458,655
2l 50,000 0 50,000
< 58,000 43,000 15,000
Al 97,635,817 97,242,162 393,655
SA2)| ANE 2 981,860 978,360 3,500
SHMC H =S2el 981,860 978,360 3,500
ALY 23 930,750 927,250 3,500
201 et23| 89,800 86,300 3,500
01 AtR2t2ll 85,776 82,276 3,500
OHAEE I HAHAAE A= 3,500 0 3,500
oSRME L SSEAF 2l 6,018,550 5,634,410 384,140
Il 50,000 0 50,000
< 15,000 0 15,000
Al 5,953,550 5,634,410 319,140
SSEMY FHSE & 2 955,200 858,200 97,000
2SFE 22l (KHA) 955,200 858,200 97,000
401 AlZBIL LY 97,000 0 97,000
01 AlEZHI 97,000 0 97,000
Otls #HE=XNHH F=XHE Z8AY
(2=2) 97,000 0 97,000
SSEAL 2] 5,083,350 4,776,210 287,140
Jl 50,000 0 50,000
[ 15,000 0 15,000
Al 4,998,350 4,776,210 222,140
MRS ES 1,232,398 1,108,398 124,000
401 AlEBIYL S THYI 907,700 822,700 85,000
01 Al£ZHI 086,700 821,700 85,000
O2UMAl SSEAL & 822 Udlds
gt 89 60,000 0 60,000
OXERN 20 [ME 22D SA 20,000 0 20,000
OB ZINE ALY 95,000 90,000 5,000
028 E HHSKMH JIsE2 5,000 0 5,000
405 THEF S 167,968 128,968 39,000
01 ML ESFSHI 167,968 128,968 39,000
O3J14a7] &X 6,500,000 *97H 2 58,500 19,500 39,000
EE FA 3 EHI 938,952 875,812 63,140
201 fer=2 3| 737,157 674,017 63,140
2 35224l 702,666 639,526 63,140
o228 FAXMIIe3 362,328 299,188 63,140
oMIIRB(2AE) 63,140 0 63,140
SSAE SH=AL 100,000 0 100,000
2l 50,000 0 50,000
< 15,000 0 15,000
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A SH D

M 2R L SSFAF 22

Rl SSEA 2 (Gt H2)

A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
Al 35,000 0 35,000
401 AlZHIL S CHY] 100,000 0 100,000
Il 50,000 0 50,000
< 15,000 0 15,000
Al 35,000 0 35,000
01 Al 100,000 0 100,000
OBSAE =Y=3AY 100,000 0 100,000
Il 50,000 0 50,000
< 15,000 0 15,000
Al 35,000 0 35,000
SSAEXE 637,550 566,550 71,000
LS 43,000 43,000 0
Al 594,550 523,550 71,000
SEANE =X 637,550 566,550 71,000
& 43,000 43,000 0
Al 504,550 523,550 71,000
SSAE 2l 154,550 83,550 71,000
402 212HXH=201H 149,000 78,000 71,000
01 QIZEXHE AL 2 (KT ) 149,000 78,000 71,000
O Z A 149,000 78,000 71,000
o2sH ¢S 2F B 22,000 0 22,000
0SEH HINIS 2F B 15,000 0 15,000
o=XH AHEOIE 2F B+ 15,000 0 15,000
o2t &30t 2F B 13,000 0 13,000
oot MEDIE 2F B 6,000 0 6,000
WLES(21H1) 15 0 15
2AXE 15 0 15
EPSPNES 15 0 15
802 gtet=0Et 15 0 15
02 Al - CHIEXSEHES 15 0 15
OXSALES FOIE0 0l & (OIRHELE) 15 0 15
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